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7 Which scene, 1 or 2, do you think requires more attention for safe driving?

% l Scene 1 ©Scene 2 Eii!ﬁﬁ‘fjwklj\%{%

' ‘“\:H __ﬂ\ Why? Please choose all the reasons that apply. % 1_‘[ % %/_.RT

Raining 0Snowing C1Foggy *Rﬂi27@

Winding road OJUnusual slope o Narrow road ©Wet road 1Bad road surface ©Worn-out line
Accumulated snow CFallen objects

Ego-vehicle turning CEntering/Exiting intersection © Occlusion by nearby vehicles ©/Poor
— \ visibility T Heavy traffic

Bl Vehicle parked on street © Vehicle crossing © Pedestrians crossing ©Construcion sites
B Emergency vehicles D Motorcycles/Bicycles nearby ' Guardrails/Walls/Poles nearby

E{%/\o 7 Low ambient light 0 Tunnel ©Bright headlights from other vehicles O Direct sunlight

« A VRRVAFIF10H % BIE
GRIENFE D = NEF H)

e B KREIE/ T A bty bDEIET7:2:1

« [B/fRILBDD100K [F. Yu et al, CVPR, 2020] % ]

—\‘

— XNER %

Amazon Mechanical Turk(AMT)IZ &k 35— X INE

KEFZE (N—ZT7AeER) DEERE,

BEHRART 7 NIV T 2 4E

/=

Python D boto3 AP|7x #]
R—7 1 —RAEHFEEC

T—2mBZzE®HS5IX:

an%%’D/\%ﬁ% \—\

1, AMTCIRIEEI N TULNEWeb A1 >~

BERNBHERESE

§X7%n2n+—é_% C\—,-b _—l-ﬁbo
I e 72 (7.8

Important notice &1

Impoartant notios 82

Even when the ego-wehid ..-:‘E"'I'E.hE"\].[.IEC-I:, raffic ight beimg red), plea
the soane as if the ego-wehicla is about to start moving.

Simoe this study in ':l:-:_:.|=-t 5 driving & |1-'.I=Jr various external onditions, such as the road
condtio l:lt :-u:-f d traffic participants, Ple -'l:-:dn': ard factors that are
ir relm.r ant ot I-eu I ohditien |.'|I of factors to be ignored are as follows.

Objects reflacted in the windshield

aSoana 1 oSoena 2

Why? Plep=e choose all the reasons thet apply.

Which scene, 1 or 2, do you think requires more ottention for safe driving ?
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righ
Direct sunlight

Bright headlights
None of the above 1

BREFD kv 73 1%. “Poor visibility” (10909 4). ”Low
ambient light” (10320 4F).
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"Vehicle parked on street”(10319 4)
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